THE BID COMMITTEE WILL MEET IN THE CITY CLERK'S CONFERENCE ROOM, 200 N. WALKER 2ND FLOOR, MUNICIPAL BUILDING, AT 10:00 A.M. OR LATER.

Bid Committee Bid Tab

City Clerk

Bid OCWUT WC-0863-2 Ended At Mar 19, 2025 10:00:00 AM CDT CONSTRUCTION/OCWUT - Balancing Tank Replacement

Company:	Downey Contracting, L.L.C.	Crossland Heavy	Wynn Construction Co., Inc
BASE BID	\$22,210,769.00	\$25,705,000.00	\$28,004,900.00
BID ALTERNATE	\$1,060,000.00	\$545,000.00	\$975,000.00
TOTAL BID:	\$23,270,769.00	\$26,250,000.00	\$28,979,900.00

Tresha Williams	Hannah Adams	Tim Alvarez
City Clerk	Purchasing Agent	Auditor

Potential Bid Defects Noted:

- #1 Anti-collusion affidavit not properly notarized
- #2 Bid Bond missing
- #3 Bid Bond incorrect awarding agency
- #4 Bid Bond insufficient amount
- #5 Business relationship affidavit not properly notarized

THE BID COMMITTEE DOES NOT REJECT OR ACCEPT BIDS. The noting or failing to note on the bid tabulation any defect by the Bid Committee is not conclusive of the validity, regularity, completeness or legality of any bid. Questions regarding bid defects or irregularities should be directed to the Municipal Counselor's Office at (405) 297-2451.

Originating Department shall:

- 1. Carefully examine and evaluate all opened bids, including a review of potential defects noted by the Bid Committee;
- 2. Contact your legal representative prior to recommending contract award based on a bid with any potential or perceived irregularity or defect; and
- 3. Prepare a memorandum to Council or its Trusts with recommendations regarding contract award, listing all bids opened and noting any defects; and
- 4. Attach a copy of the Bid Committee's bid tabulation with the SIRE item recommending contract award as a non-published document for review by staff.

Bid #OCWUT WC-0863-2 - Balancing Tank Replacement

Start Date Feb 12, 2025 7:48:55 AM CST Awarded Date Not Yet Awarded

OCWUT WC-0863-2-01-01 BASE BID: ITEM 1: COLOR AUDIO/VIDEO RECORDING PRE-AND POST-CONSTRUCTION							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Downey Contracting, L.L.C.	First Offer - \$593.00	1 / ls	\$593.00	Υ	Υ		
Product Code: WC-0863-2 Agency Notes:		Supplier Product Cod Supplier Notes:	e:				
Wynn Construction Co., Inc	First Offer - \$6,600.00	1 / ls	\$6,600.00	Υ	Υ		
Product Code: WC-0863-2 Agency Notes:		Supplier Product Cod Supplier Notes:	e:				
Crossland Heavy [Ad]	First Offer - \$12,000.00	1 / ls	\$12,000.00	Υ	Υ		
Product Code: WC-0863-2 Agency Notes:		Supplier Product Cod Supplier Notes: The Bid Bond is upload					

OCWUT WC-0863-2-01-02 BASE BID: ITEM 2: MOBILIZE AND DEMOBILIZE EQUIPMENT AND TEMPORARY UTILITIES								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Wynn Construction Co., Inc	First Offer - \$380,000.00	1 / ls	\$380,000.00	Υ	Υ			
Product Code: WC-0863-2		Supplier Product Cod	de:					
Agency Notes:		Supplier Notes:						
Crossland Heavy [Ad]	First Offer - \$400,000.00	1 / ls	\$400,000.00		Υ			
Product Code: WC-0863-2		Supplier Product Cod	de:					
Agency Notes:		Supplier Notes:						
Downey Contracting, L.L.C.	First Offer - \$1,000,000.00	1 / ls	\$1,000,000.00		Υ			
Product Code: WC-0863-2		Supplier Product Cod	de:					
Agency Notes:		Supplier Notes:						

OCWUT WC-0863-2-01-03 BASE BID: ITEM 3: CONSTRUCTION STAKING AND SURVEYING							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Crossland Heavy [Ad]	First Offer - \$30,000.00	1 / ls	\$30,000.00		Υ		
Product Code: WC-0863-2 Agency Notes:		Supplier Product Cod Supplier Notes:	e:				
Downey Contracting, L.L.C.	First Offer - \$45,000.00	1 / ls	\$45,000.00		Υ		
Product Code: WC-0863-2 Agency Notes:		Supplier Product Cod Supplier Notes:	e:				
Wynn Construction Co., Inc	First Offer - \$66,000.00	1 / ls	\$66,000.00		Υ		
Product Code: WC-0863-2 Agency Notes:		Supplier Product Cod Supplier Notes:	e:				

OCWUT WC-0863-2-01-04 BASE BID: ITEM 4: SEDIMENT AND EROSION CONTROL							

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Wynn Construction Co., Inc	First Offer - \$17,000.00	1 / ls	\$17,000.00		Υ
Product Code: WC-0863-2		Supplier Product Cod	e:		
Agency Notes:		Supplier Notes:			
Downey Contracting, L.L.C.	First Offer - \$40,000.00	1 / ls	\$40,000.00		Υ
Product Code: WC-0863-2		Supplier Product Cod	e:		
Agency Notes:		Supplier Notes:			
Crossland Heavy [Ad]	First Offer - \$130,000.00	1 / ls	\$130,000.00		Υ
Product Code: WC-0863-2		Supplier Product Code:			
Agency Notes:		Supplier Notes:			

OCWUT WC-0863-2-01-05 BASE BID: ITEM 5: CLEARING AND GRUBBING							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Wynn Construction Co., Inc	First Offer - \$158,000.00	1 / ls	\$158,000.00		Υ		
Product Code: WC-0863-2		Supplier Product Cod	le:				
Agency Notes:		Supplier Notes:					
Crossland Heavy [Ad]	First Offer - \$250,000.00	1 / ls	\$250,000.00		Y		
Product Code: WC-0863-2		Supplier Product Cod	le:				
Agency Notes:		Supplier Notes:					
Downey Contracting, L.L.C.	First Offer - \$975,000.00	1 / ls	\$975,000.00		Y		
Product Code: WC-0863-2		Supplier Product Cod	le:				
Agency Notes:		Supplier Notes:					

OCWUT WC-0863-2-01-06 BASE BID: ITEM 6: MACOMB BALANCING TANK REPLACEMENT							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Downey Contracting, L.L.C.	First Offer - \$4,375,250.00	1 / ls	\$4,375,250.00		Υ		
Product Code: WC-0863-2		Supplier Product Cod	de:				
Agency Notes:		Supplier Notes:					
Crossland Heavy [Ad]	First Offer - \$5,507,000.00	1 / ls	\$5,507,000.00		Υ		
Product Code: WC-0863-2		Supplier Product Cod	de:				
Agency Notes:		Supplier Notes:					
Wynn Construction Co., Inc	First Offer - \$6,240,000.00	1 / ls	\$6,240,000.00		Υ		
Product Code: WC-0863-2		Supplier Product Cod	de:				
Agency Notes:		Supplier Notes:					

OCWUT WC-0863-2-01-07 BASE BID: ITEM 7: MACOMB SITE WORK & DEMOLITION							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Wynn Construction Co., Inc	First Offer - \$1,560,000.00	1 / ls	\$1,560,000.00		Υ		
Product Code: WC-0863-2		Supplier Product Cod	de:				
Agency Notes:		Supplier Notes:					
Downey Contracting, L.L.C.	First Offer - \$2,200,000.00	1 / ls	\$2,200,000.00		Υ		
Product Code: WC-0863-2		Supplier Product Cod	de:				
Agency Notes:		Supplier Notes:					
Crossland Heavy [Ad]	First Offer - \$2,892,380.00	1 / ls	\$2,892,380.00		Υ		
Product Code: WC-0863-2		Supplier Product Cod	de:				
Agency Notes:		Supplier Notes:					

OCWUT WC-0863-2-01-08 BASE BID: ITEM 8: COALGATE BALANCING TANK REPLACEMENT							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Downey Contracting, L.L.C.	First Offer - \$4,375,250.00	1 / ls	\$4,375,250.00		Y		
Product Code: WC-0863-2		Supplier Product Code:					
Agency Notes:		Supplier Notes:					
Crossland Heavy [Ad]	First Offer - \$5,507,000.00	1 / ls	\$5,507,000.00		Y		
Product Code: WC-0863-2		Supplier Product Code:					

Agency Notes:		Supplier Notes:		
Wynn Construction Co., Inc	First Offer - \$6,240,000.00	1 / ls	\$6,240,000.00	Υ
Product Code: WC-0863-2		Supplier Product Cod	de:	
Agency Notes:		Supplier Notes:		

OCWUT WC-0863-2-01-09 BASE BID: ITEM 9: COALGATE SITE WORK & DEMOLITION								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Wynn Construction Co., Inc	First Offer - \$1,500,000.00	1 / ls	\$1,500,000.00		Υ			
Product Code: WC-0863-2		Supplier Product Cod	de:					
Agency Notes:		Supplier Notes:						
Downey Contracting, L.L.C.	First Offer - \$1,600,000.00	1 / ls	\$1,600,000.00		Υ			
Product Code: WC-0863-2		Supplier Product Cod	de:					
Agency Notes:		Supplier Notes:						
Crossland Heavy [Ad]	First Offer - \$2,350,000.00	1 / ls	\$2,350,000.00		Υ			
Product Code: WC-0863-2		Supplier Product Cod	de:					
Agency Notes:		Supplier Notes:						

OCWUT WC-0863-2-01-10 BASE BID: ITEM 10: REMOVE SILT IN BOTTOM OF EXISTING TANKS								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Downey Contracting, L.L.C.	First Offer - \$10.00	3000 / cy	\$30,000.00		Υ			
Product Code: WC-0863-2 Supplier Product Code:								
Agency Notes:		Supplier Notes:						
Wynn Construction Co., Inc	First Offer - \$40.00	3000 / cy	\$120,000.00		Y			
Product Code: WC-0863-2		Supplier Product Code	e:					
Agency Notes:		Supplier Notes:						
Crossland Heavy [Ad]	First Offer - \$55.00	3000 / cy	\$165,000.00		Υ			
Product Code: WC-0863-2		Supplier Product Code	e:					
Agency Notes:		Supplier Notes:						

OCWUT WC-0863-2-01-11 BASE BID: ITEM 11: ROCK EXCAVATION FOR TANKS - WEATHERED SANDSTONE AND SHALE								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Crossland Heavy [Ad]	First Offer - \$1.00	8470 / cy	\$8,470.00		Υ			
Product Code: WC-0863-2	Supplier Product Code:							
Agency Notes:		Supplier Notes:						
Wynn Construction Co., Inc	First Offer - \$15.00	8470 / cy	\$127,050.00		Y			
Product Code: WC-0863-2		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Downey Contracting, L.L.C.	First Offer - \$30.00	8470 / cy	\$254,100.00		Υ			
Product Code: WC-0863-2		Supplier Product Code	e:					
Agency Notes:		Supplier Notes:						

OCWUT WC-0863-2-01-12 BASE BID: ITEM 12: R	OCK EXCAVATION FOR F	PIPE INSTALLATION				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Crossland Heavy [Ad]	First Offer - \$1.00	1450 / If	\$1,450.00		Y	
Product Code: WC-0863-2	Supplier Product Code:					
Agency Notes:		Supplier Notes:				
Downey Contracting, L.L.C.	First Offer - \$15.00	1450 / If	\$21,750.00		Y	
Product Code: WC-0863-2		Supplier Product Code	e:			
Agency Notes:		Supplier Notes:				
Wynn Construction Co., Inc	First Offer - \$100.00	1450 / If	\$145,000.00		Y	
Product Code: WC-0863-2		Supplier Product Code	e:			
Agency Notes:		Supplier Notes:				

OCWUT WC-0863-2-01-13 BASE BID: ITEM 13: STRUCTURAL FILL IMPORT & PLACEMENT	Ī
---	---

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Downey Contracting, L.L.C.	First Offer - \$30.00	10490 / cy	\$314,700.00		Υ	
Product Code: WC-0863-2		Supplier Product Code:				
Agency Notes:		Supplier Notes:				
Crossland Heavy [Ad]	First Offer - \$95.00	10490 / cy	\$996,550.00		Υ	
Product Code: WC-0863-2		Supplier Product Code	e:			
Agency Notes:		Supplier Notes:				
Wynn Construction Co., Inc	First Offer - \$125.00	10490 / cy	\$1,311,250.00		Υ	
Product Code: WC-0863-2		Supplier Product Code	e:			
Agency Notes:		Supplier Notes:				

OCWUT WC-0863-2-01-14 BASE BID: ITEM 14: GRAVEL SURFACING IMPORT & PLACEMENT								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Crossland Heavy [Ad]	First Offer - \$27.00	1000 / sy	\$27,000.00		Y			
Product Code: WC-0863-2		Supplier Product Code	e:					
Agency Notes:		Supplier Notes:						
Downey Contracting, L.L.C.	First Offer - \$45.00	1000 / sy	\$45,000.00		Y			
Product Code: WC-0863-2		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Wynn Construction Co., Inc	First Offer - \$48.00	1000 / sy	\$48,000.00		Y			
Product Code: WC-0863-2		Supplier Product Code	e:					
Agency Notes:		Supplier Notes:						

OCWUT WC-0863-2-01-15 BASE BID: ITEM 15	: 78 INCH FULLY WELDED ST	EEL PIPING				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Crossland Heavy [Ad]	First Offer - \$4,875.00	10 / If	\$48,750.00		Y	
Product Code: WC-0863-2		Supplier Product Code:				
Agency Notes:		Supplier Notes:				
Wynn Construction Co., Inc	First Offer - \$9,000.00	10 / lf	\$90,000.00		Y	
Product Code: WC-0863-2		Supplier Product Code:				
Agency Notes:		Supplier Notes:				
Downey Contracting, L.L.C.	First Offer - \$17,000.00	10 / If	\$170,000.00		Y	
Product Code: WC-0863-2		Supplier Product Cod	e:			
Agency Notes:		Supplier Notes:				

OCWUT WC-0863-2-01-16 BASE BID: ITEM 16: 72 INCH FULLY WELDED STEEL PIPING								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Downey Contracting, L.L.C.	First Offer - \$5,900.00	66 / If	\$389,400.00		Y			
Product Code: WC-0863-2 Supplier Product Code:								
Agency Notes:		Supplier Notes:						
Wynn Construction Co., Inc	First Offer - \$7,500.00	66 / If	\$495,000.00		Y			
Product Code: WC-0863-2		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Crossland Heavy [Ad]	First Offer - \$7,700.00	66 / If	\$508,200.00		Y			
Product Code: WC-0863-2		Supplier Product Cod	e:					
Agency Notes:		Supplier Notes:						

OCWUT WC-0863-2-01-17 BASE BID: ITEM 17: 60 INCH FULLY WELDED STEEL PIPING								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Downey Contracting, L.L.C.	First Offer - \$2,200.00	829 / If	\$1,823,800.00		Υ			
Product Code: WC-0863-2	Supplier Product Code:							
Agency Notes:		Supplier Notes:						
Crossland Heavy [Ad]	First Offer - \$3,100.00	829 / If	\$2,569,900.00		Υ			
Product Code: WC-0863-2		Supplier Product Code:						

Agency Notes:		Supplier Notes:			
Wynn Construction Co., Inc	First Offer - \$3,800.00	829 / If	\$3,150,200.00		Υ
Product Code: WC-0863-2		Supplier Product Code:			
Agency Notes:		Supplier Notes:			

OCWUT WC-0863-2-01-18 BASE BID: ITEM 18	3: 30 INCH DUCTILE IRON OV	ERFLOW PIPING			
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Crossland Heavy [Ad]	First Offer - \$870.00	690 / If	\$600,300.00		Υ
Product Code: WC-0863-2		Supplier Product Cod	le:		
Agency Notes:		Supplier Notes:			
Downey Contracting, L.L.C.	First Offer - \$1,100.00	690 / If	\$759,000.00		Υ
Product Code: WC-0863-2		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
Wynn Construction Co., Inc	First Offer - \$2,700.00	690 / If	\$1,863,000.00		Υ
Product Code: WC-0863-2		Supplier Product Cod	le:		
Agency Notes:		Supplier Notes:			

OCWUT WC-0863-2-01-19 BASE BID: ITEM 19: 24 INCH DUCTILE IRON DRAIN LINE								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Downey Contracting, L.L.C.	First Offer - \$575.00	340 / If	\$195,500.00		Y			
Product Code: WC-0863-2		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Crossland Heavy [Ad]	First Offer - \$800.00	340 / lf	\$272,000.00		Υ			
Product Code: WC-0863-2		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Wynn Construction Co., Inc	First Offer - \$1,220.00	340 / lf	\$414,800.00		Υ			
Product Code: WC-0863-2		Supplier Product Cod	e:					
Agency Notes:		Supplier Notes:						

OCWUT WC-0863-2-01-20 BASE BID: ITEM 20: 12 INCH DUCTLE IRON DRAIN PIPING								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Crossland Heavy [Ad]	First Offer - \$530.00	100 / If	\$53,000.00		Y			
Product Code: WC-0863-2 Supplier Product Code:			e:					
Agency Notes:		Supplier Notes:						
Downey Contracting, L.L.C.	First Offer - \$600.00	100 / lf	\$60,000.00		Y			
Product Code: WC-0863-2		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Wynn Construction Co., Inc	First Offer - \$1,280.00	100 / If	\$128,000.00		Y			
Product Code: WC-0863-2		Supplier Product Code	e:					
Agency Notes:		Supplier Notes:						

OCWUT WC-0863-2-01-21 BASE BID: ITEM 21: INLET/OUTLET VALVE VAULTS								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Downey Contracting, L.L.C.	First Offer - \$505,478.00	4 / ea	\$2,021,912.00		Y			
Product Code: WC-0863-2 Supplier Product Code:								
Agency Notes:		Supplier Notes:						
Crossland Heavy [Ad]	First Offer - \$515,000.00	4 / ea	\$2,060,000.00		Y			
Product Code: WC-0863-2		Supplier Product Cod	le:					
Agency Notes:		Supplier Notes:						
Wynn Construction Co., Inc	First Offer - \$585,000.00	4 / ea	\$2,340,000.00		Y			
Product Code: WC-0863-2		Supplier Product Cod	le:					
Agency Notes:		Supplier Notes:						

OCULITUE 0000 0 04 00	BASE BID: ITEM 22: OVERFLOW OUTLET STRUCTURES
()(\V\ \V\ = ()X63=7=()1=77	BASE BID: HEM 22: OVERELOW OUTLE STRUCTURES

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Crossland Heavy [Ad]	First Offer - \$115,000.00	2 / ea	\$230,000.00		Y
Product Code: WC-0863-2		Supplier Product Cod	e:		
Agency Notes:		Supplier Notes:			
Downey Contracting, L.L.C.	First Offer - \$122,833.00	2 / ea	\$245,666.00		Υ
Product Code: WC-0863-2		Supplier Product Cod	e:		
Agency Notes:		Supplier Notes:			
Wynn Construction Co., Inc	First Offer - \$170,000.00	2 / ea	\$340,000.00		Υ
Product Code: WC-0863-2		Supplier Product Cod	e:		
Agency Notes:		Supplier Notes:			

OCWUT WC-0863-2-01-23 BASE BID: ITEM 23: OUTLET STRUCTURE								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Crossland Heavy [Ad]	First Offer - \$85,000.00	1 / ea	\$85,000.00		Y			
Product Code: WC-0863-2		Supplier Product Cod	e:					
Agency Notes:		Supplier Notes:						
Wynn Construction Co., Inc	First Offer - \$92,000.00	1 / ea	\$92,000.00		Υ			
Product Code: WC-0863-2		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Downey Contracting, L.L.C.	First Offer - \$92,263.00	1 / ea	\$92,263.00		Υ			
Product Code: WC-0863-2		Supplier Product Cod	e:					
Agency Notes:		Supplier Notes:						

OCWUT WC-0863-2-01-24 BASE BID: ITEM 24: ELECTRICAL AND INSTRUMENTATION								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Downey Contracting, L.L.C.	First Offer - \$872,421.00	1 / ls	\$872,421.00		Υ			
Product Code: WC-0863-2	Supplier Product Code:							
Agency Notes:		Supplier Notes:						
Crossland Heavy [Ad]	First Offer - \$875,000.00	1 / ls	\$875,000.00		Y			
Product Code: WC-0863-2		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Wynn Construction Co., Inc	First Offer - \$931,000.00	1 / ls	\$931,000.00		Y			
Product Code: WC-0863-2		Supplier Product Cod	le:					
Agency Notes:		Supplier Notes:						

OCWUT WC-0863-2-01-25 BASE BID: ITEM 25: SEEDING AND RESTORATION								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Crossland Heavy [Ad]	First Offer - \$100,000.00	1 / ls	\$100,000.00		Υ			
Product Code: WC-0863-2	Supplier Product Cod	le:						
Agency Notes:		Supplier Notes:						
Wynn Construction Co., Inc	First Offer - \$100,000.00	1 / ls	\$100,000.00		Υ			
Product Code: WC-0863-2		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Downey Contracting, L.L.C.	First Offer - \$150,000.00	1 / ls	\$150,000.00		Υ			
Product Code: WC-0863-2		Supplier Product Cod	le:					
Agency Notes:		Supplier Notes:						

OCWUT WC-0863-2-01-26 BASE BID: ITEM 26: WATER WELL ABANDONMENT								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Crossland Heavy [Ad]	First Offer - \$15,000.00	1 / ls	\$15,000.00		Y			
Product Code: WC-0863-2	Supplier Product Code:							
Agency Notes:		Supplier Notes:						
Downey Contracting, L.L.C.	First Offer - \$30,825.00	1 / ls	\$30,825.00		Υ			
Product Code: WC-0863-2		Supplier Product Cod	le:					

Agency Notes:		Supplier Notes:			
Wynn Construction Co., Inc	First Offer - \$36,000.00	1 / ls	\$36,000.00		Y
Product Code: WC-0863-2		Supplier Product Code:			
Agency Notes:		Supplier Notes:			

OCWUT WC-0863-2-01-27 BASE BID: ITEM 27: TRANSITION MACOMB PUMP STATION TO ATOKA RAW WATER								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Crossland Heavy [Ad]	First Offer - \$6,000.00	1 / ls	\$6,000.00		Υ			
Product Code: WC-0863-2	Supplier Product Code:							
Agency Notes:		Supplier Notes:						
Wynn Construction Co., Inc	First Offer - \$66,000.00	1 / ls	\$66,000.00		Υ			
Product Code: WC-0863-2		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Downey Contracting, L.L.C.	First Offer - \$118,339.00	1 / ls	\$118,339.00		Υ			
Product Code: WC-0863-2		Supplier Product Cod	le:					
Agency Notes:		Supplier Notes:						

OCWUT WC-0863-2-01-28 BASE BID: ITEM 28: GPS AS-BUILT SURVEY								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Downey Contracting, L.L.C.	First Offer - \$5,000.00	1 / ls	\$5,000.00		Υ			
Product Code: WC-0863-2	Supplier Product Code:							
Agency Notes:		Supplier Notes:						
Crossland Heavy [Ad]	First Offer - \$5,000.00	1 / ls	\$5,000.00		Υ			
Product Code: WC-0863-2		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Wynn Construction Co., Inc	First Offer - \$40,000.00	1 / ls	\$40,000.00		Υ			
Product Code: WC-0863-2		Supplier Product Cod	e:					
Agency Notes:		Supplier Notes:						

OCWUT WC-0863-2-02-01 BID ALTERNATE: ITEM 1A. MACOMB WATER WELL INSTALLATION								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Crossland Heavy [Ad]	First Offer - \$225,000.00	1 / ls	\$225,000.00		Υ			
Product Code: WC-0863-2		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Wynn Construction Co., Inc	First Offer - \$465,000.00	1 / ls	\$465,000.00		Y			
Product Code: WC-0863-2		Supplier Product Cod	le:					
Agency Notes:		Supplier Notes:						
Downey Contracting, L.L.C.	First Offer - \$520,000.00	1 / ls	\$520,000.00		Υ			
Product Code: WC-0863-2		Supplier Product Cod	le:					
Agency Notes:		Supplier Notes:						

OCWUT WC-0863-2-02-02 BID ALTERNATE: ITEM 1B. ADA WATER WELL INSTALLATION									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Crossland Heavy [Ad]	First Offer - \$320,000.00	1 / ls	\$320,000.00		Υ				
Product Code: WC-0863-2		Supplier Product Code:							
Agency Notes:	Supplier Notes:								
Wynn Construction Co., Inc	First Offer - \$510,000.00	1 / ls	\$510,000.00		Υ				
Product Code: WC-0863-2		Supplier Product Cod	le:						
Agency Notes:		Supplier Notes:							
Downey Contracting, L.L.C.	First Offer - \$540,000.00	1 / ls	\$540,000.00		Υ				
Product Code: WC-0863-2	Supplier Product Code:								
Agency Notes:	Supplier Notes:								

Supplier Totals

• •					
f Downey Cor	ntracting, L.L.C.	\$23,270,769.00 (30/30 items	;)		
Bid Contact	Sheila Stovall rmorris@downeycontracting.com Ph 405-478-5277	Address 3217 NE 63rd Street Oklahoma City, OK 7312	Address 3217 NE 63rd Street Oklahoma City, OK 73121		
Qualifications	OKC PRE-QUALIFIED CONTRACTORS				
Agency Notes:		Supplier Notes:	Head Attch:		
f Crossland H	eavy [Ad]	\$26,250,000.00 (30/30 items)			
Bid Contact	Justin Lillie jlillie@heavycontractors.com Ph 405-748-5043 Fax 405-748-7214	Address 501 S East Avenue Columbus, KS 66725			
Qualifications	OKC PRE-QUALIFIED CONTRACTORS				
Agency Notes:			Head Attch:		
f Wynn Const	ruction Co., Inc	\$28,979,900.00 (30/30 items	;)		
Bid Contact	Rick Thompson bid@wynnconstruction.com Ph 405-753-1120		Address 11901 North Eastern Ave. Oklahoma City, OK 73131		
Qualifications	OKC PRE-QUALIFIED CONTRACTORS				
Agency Notes:		Supplier Notes:	Head Attch: ∭		

^{**}All bids/proposals submitted for the designated project are reflected on this tabulation sheet. However, the listing of the bid/proposal on this tabulation sheet shall not be construed as a comment on the responsiveness of such bid/proposal or as any indication that the agency accepts such bid/proposal as being responsive. The agency will make a determination as to the responsiveness of the vendor responses submitted based upon compliance with all applicable laws, purchasing guidelines and project documents, including but not limited to the project specifications and contract documents. The agency will notify the successful vendor upon award of the contract and, as according to the law, all bid/proposal responses received may be available for inspection at that time.